Multiply and Divide by 10° (B)

Find each product or quotient.

6.5527 x 103 = 7.6657 x 10° =
6.4524 x 10> = 9.3 x 10° =
3.3224 + 103 = 9.939 - 103 =
45794 + 10° = 5.723 + 103 =
3.31+10°= 8.89 x 10° =
0.4051 + 10° = 1.9763 x 10° =
8.7 x 10° = 2.031 x 10% =
2.65 +10° = 9.1331 + 10° =
2.2801 + 103 = 6.8 x 10° =
428 +10° = 9.1384 x 10° =
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Multiply and Divide by 10° (B) Answers

Find each product or quotient.

6.5527 x 10° = 6,552.7 7.6657 x 10° = 7,665.7
6.4524 x 10° = 6,452.4 9.3 x 10° =9,300
3.3224 + 10% =0.0033224 9.939 + 10° =0.009939
4.5794 + 10° = 0.0045794 5.723 =+ 10% = 0.005723
3.31 +10°=0.00331 8.89 x 10° = 8,890
0.4051 + 10° = 0.0004051 1.9763 x 10° =1,976.3
8.7 X 10° = 8,700 2.031 x 10° = 2,031
2.65 + 10° =0.00265 9.1331 = 10° =0.0091331
2.2801 + 10° = 0.0022801 6.8 X 10° = 6,800

4.28 +10° =0.00428 9.1384 x 10° =9,138.4
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